

A COSINE FUNCTIONAL EQUATION WITH RESTRICTED ARGUMENT

BY
L. B. ETIGSON⁽¹⁾

We name a *functional equation with restricted argument* one in which at least one of the variables is restricted to a certain discrete subset of the domain of the other variable(s). In particular, the subset may consist of a single element.

The purpose of this paper is to present a functional equation satisfied only by cosine functions.

We begin by quoting a theorem of Wilson (Theorem 1, Section 3 of [7]) for D'Alembert's functional equation

$$(1) \quad f(x+y)+f(x-y) = 2f(x)f(y).$$

Since Wilson did not state specific domain and range, we use general domain and range for which his result holds.

THEOREM 1. *If G is an additive abelian group in which it is possible to divide by 2, and F a field of characteristic not equal to 2, then for $f:G \rightarrow F$, all solutions of*

$$(2) \quad f(x+y)f(x-y) = f(x)^2+f(y)^2-1, \quad f(0) = 1,$$

and of (1) are common, except the trivial solution $f(x) \equiv 0$ of (1).

Equation (2) is a special case of

$$(C) \quad g(x+y)g(x-y) = g(x)^2+g(y)^2-C^2, \quad g(0) = C \neq 0,$$

C a constant in the range of g . Dividing (C) by C^2 , we have (2) for $f(x)=g(x)/C$.

In the case of $f:R \rightarrow C$, it is known ([4], [7]) that (except for the trivial solution $f(x) \equiv 0$) the solutions of (1) are of the form

$$(3) \quad f(x) = \frac{h(x)+h(x)^{-1}}{2},$$

where

$$(4) \quad h(x+y) = h(x)h(y).$$

If f is a measurable solution of (1), then f is continuous ([2]), and the corresponding

Received by the editors June 18, 1972.

⁽¹⁾ This work forms part of the author's doctoral dissertation done at the University of Waterloo, Ontario. It was supported by the National Research Council of Canada.

h in (3) is continuous ([4]). Then every non-trivial h satisfying (4) is of the form ([1], page 216)

$$(5) \quad h(x) = \exp(cx)$$

where c is an arbitrary complex constant, so that by (3) and (5) f is of the form $f(x) = \cosh cx$, or, since $\cosh ix = \cos x$,

$$(6) \quad f(x) = \cos bx,$$

where b is an arbitrary complex constant.

In Theorem 2 we shall make use of the functional equation

$$(7) \quad f(x+y)f(x-y) = f(x)^2 + f(y)^2 - 1.$$

Replacing x and y by 0 in (7) we see that $f(0)^2 = 1$, so that (7) is equivalent to either

$$(2) \quad f(x+y)f(x-y) = f(x)^2 + f(y)^2 - 1, \quad f(0) = 1$$

or

$$(8) \quad f(x+y)f(x-y) = f(x)^2 + f(y)^2 - 1, \quad f(0) = -1.$$

For $f: R \rightarrow C$, Theorem 1 and the preceding remarks show that all measurable solutions of (2) are given by (6). A proof similar to that in [7] for Theorem 1 shows that all solutions of (8) and of

$$(9) \quad f(x+y) + f(x-y) = -2f(x)f(y)$$

are common, except the trivial solution $f(x) \equiv 0$ of (9). But (9) results from (1) by replacing the function f by $-f$, so that all previous remarks about f satisfying (1) also hold for $-f$ satisfying (9). In particular, by (6), all non-trivial, measurable solutions of (9), and hence all measurable solutions of (8), for $f: R \rightarrow C$, are given by

$$(10) \quad f(x) = -\cos bx.$$

Hence all measurable solutions $f: R \rightarrow C$ of (7) are given by (6) and (10).

Further, if f is measurable and satisfies (2) or (8), or (7), then f is continuous.

In this paper we shall consider the functional equation with restricted argument

$$(11) \quad f(x+y+A)f(x-y+A) = f(x)^2 + f(y)^2 - 1,$$

where $f: R \rightarrow C$ is measurable and $A \neq 0$ is a fixed real constant. It will be shown that f is continuous, and that (besides the trivial solution $f(x) \equiv 1$), the only functions which satisfy (11) are the cosine functions $\cos ax$ and $-\cos ax$, where for the constant a , only a countable set of numbers is admissible.

Other functional equations with restricted argument solved in the literature, but not given that name, are

$$(12) \quad f(x-y+A) - f(x+y+A) = 2f(x)f(y),$$

$$(13) \quad f(x+y+A)f(x-y+A) = f(x)^2 - f(y)^2$$

and

$$(14) \quad f(x+y+2A)+f(x-y+2A) = 2f(x)f(y),$$

considered respectively in [6], [5], and [3], where it is shown that (12) and (13) have only sine functions as solutions, and (14) has only cosine functions as solutions (in addition to their trivial solutions).

THEOREM 2. *Let $f:R \rightarrow C$ satisfy (11), where A is a non-zero real constant. Then the most general solution of (11) is given by*

$$(15) \quad f(x) = g(x-A),$$

where g is an arbitrary solution of (7), periodic with period $2A$.

Proof. First we show (15) is a solution of (11), provided g is a solution of (7) with period $2A$.

Defining f by (15), where g is a solution of (7) with period $2A$, we have by (15), (7), and the periodicity of g

$$\begin{aligned} f(x+y+A)f(x-y+A) &= g(x+y)g(x-y) \\ &= g(x+y-2A)g(x-y) \\ &= g(x-A)^2+g(y-A)^2-1 \\ &= f(x)^2+f(y)^2-1, \end{aligned}$$

so that (11) holds.

Conversely, we show every solution of (11) is of the form (15), where g of (15) has period $2A$ and satisfies (7).

Replacing y by $-y$ in (11) and comparing the result with (11), we get

$$(16) \quad f(y)^2 = f(-y)^2.$$

Replacing x by $-A$ and y by 0 in (11), and using (16), we obtain

$$(17) \quad f(A)^2 = 1.$$

Replacing y by A in (11), we get, using (17),

$$(18) \quad f(x+2A)f(x) = f(x)^2.$$

For all those x_1 such that $f(x_1) \neq 0$, we have by (18)

$$(19) \quad f(x_1+2A) = f(x_1).$$

For all those x_2 such that $f(x_2) = 0$, we have by (16)

$$(20) \quad f(-x_2) = 0.$$

Replacing x by A and y by x_2+2A in (11), we have

$$(21) \quad f(x_2+4A)f(-x_2) = f(A)^2+f(x_2+2A)^2-1.$$

Thus by (21), (20), and (17) we have

$$(22) \quad f(x_2+2A) = 0 = f(x_2).$$

By (19) and (22) we get

$$(23) \quad f(x+2A) = f(x)$$

for all real x , so that f is periodic with period $2A$.

If g is defined by (15), then by (23) and (15) we have

$$g(x+2A) = f(x+3A) = f(x+A) = g(x),$$

so that g is periodic with period $2A$.

Replacing x by $x+A$ and y by $y+A$ in (11) and using the periodicity of f we have

$$(24) \quad f(x+y+A)f(x-y+A) = f(x+A)^2 + f(y+A)^2 - 1.$$

Finally by (24) and (15) we obtain

$$g(x+y)g(x-y) = g(x)^2 + g(y)^2 - 1.$$

Thus g is a solution of (7), and the proof of the theorem is complete.

THEOREM 3. *The only measurable solutions of (11), where $A \neq 0$ is a fixed real constant, are*

$$(25) \quad f(x) = \cos ax \quad \text{and} \quad f(x) = -\cos ax,$$

where

$$a = \frac{n\pi}{A}, \quad n = 0, 1, 2, \dots$$

Proof. We use Theorem 2. Since f is measurable, then the function g defined by (15) is also measurable. Since g satisfies (7), which is equivalent to (2) or (8), then by the introductory remarks it is seen that g is continuous. Thus f is continuous, by (15). Since the continuous solutions for g satisfying (7) are $g(x) = \cos bx$ and $g(x) = -\cos bx$, where b is an arbitrary complex constant, and since g is periodic with period $2A$, we have $\cos b(x+2A) = \cos bx$, which is possible only if $b2A = 2n\pi$, $n=0, \pm 1, \pm 2, \dots$, in which case we have

$$(26) \quad g(x) = \cos \frac{n\pi}{A} x, \quad n = 0, 1, 2, \dots,$$

and

$$(27) \quad g(x) = -\cos \frac{n\pi}{A} x, \quad n = 0, 1, 2, \dots$$

Thus by (15) we obtain as measurable solutions of (11), in the cases of (26) and (27) respectively,

$$f(x) = \cos\left(\frac{n\pi}{A} x - n\pi\right) \quad \text{and} \quad f(x) = -\cos\left(\frac{n\pi}{A} x - n\pi\right), \quad n = 0, 1, 2, \dots$$

When n is even, $n=2k$, $k=0, 1, 2, \dots$, we have, respectively, $f(x)=\cos px$ and $f(x)=-\cos px$, where $p=2k\pi/A$, $k=0, 1, 2, \dots$. When n is odd, $n=2k+1$, $k=0, 1, 2, \dots$, we have, respectively, $f(x)=-\cos qx$ and $f(x)=\cos qx$, where $q=(2k+1)\pi/A$, $k=0, 1, 2, \dots$. Grouping the solutions $\cos px$, $\cos qx$, respectively, $-\cos px$, $-\cos qx$, completes the proof of the theorem.

REFERENCES

1. J. Aczel, *Lectures on functional equations and their applications*, Academic Press, New York and London, 1966.
2. S. Kaczmarz, *Sur l'équation fonctionnelle $f(x)+f(x+y)=\phi(y)f[x+(y/2)]$* , *Fund. Math.* **6** (1924), 122–129.
3. PL. Kannappan, *A functional equation for the cosine*, *Canad. Math. Bull.* **2** (1968), 495–498.
4. ———, *The functional equation $f(xy)+f(xy^{-1})=2f(x)f(y)$ for groups*, *Proc. Am. Math. Soc.* **19** (1968), 69–74.
5. ———, *On sine functional equation*, *Stud. Sci. Math. Hung.* **4** (1969), 331–333.
6. B. Van Vleck, *A functional equation for the sine*, *Ann. Math.* **7** (1910), 161–165.
7. W. H. Wilson, *On certain related functional equations*, *Bull. Am. Math. Soc.* **26** (1918), 300–312.

DEPARTMENT OF MATHEMATICS
ATKINSON COLLEGE, YORK UNIVERSITY
DOWNSVIEW, ONTARIO.

ENVIRONMENTAL HEALTH STUDIES,
ONTARIO MINISTRY OF HEALTH
TORONTO, ONTARIO.